






 

 

fofgr izi= %& ¼i) 
 

Øe 
laŒ 

ftyk dk 
uke 

uhyke i= 
inkf/kdkfj;ksa 

dh la0 

inkf/kdkfj;ksa 
dh la0 
ftuls 
izfrosnu 
izkIr gSA 

inkf/kdkfj;ksa 
dh la0 
ftuls 
izfrosnu 
vizkIr gSA 

yafcr 
oknksa 

dh la0 

lfUufgr 
jkf'k 

¼yk[k esa½ 

dqy 
olwyh 

x;h jkf'k 
¼yk[k esa½ 

olwyh 
dk 

izfr'kr 

1 eqt¶Qjiqj        

2 lhrke<+h        

3 oS'kkyh        

4 f'kogj        

5 iwohZ 
pEikj.k 

       

6 if'pe 
pEikj.k 

       

dqy        

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

fofgr izi= %& ¼ii) 
 

Ø0 
la0 

ftyk dk uke 
50 yk[k ls vf/kd 
lfUufgr jkf'k 

okys oknksa dh la0 

10 yk[k ls vf/kd 
lfUufgr jkf'k okys 

oknksa dh la0 

01&10 yk[k 
lfUufgr jkf'k 

okys oknksa dh la0 
vH;qfDr 

1 eqt¶Qjiqj     

2 lhrke<+h     

3 oS'kkyh     

4 f'kogj     

5 iwohZ pEikj.k     

6 if'pe pEikj.k     

dqy     

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 
 



fofgr izi= %& ¼iii) 
 

A 

Ø0 
la0 

vf/k;kph 
foHkkx 
dk uke 

ftyk dk uke 

dqy eqt¶Qjiqj oS'kkyh lhrke<+h f'kogj iwohZ pEikj.k 
if'pe 
pEikj.k 

 
 

dqy 
oknksa 
dh 
la0 

lfUufgr 
jkf'k 

dqy 
oknksa 
dh 
la0 

lfUufgr 
jkf'k 

dqy 
oknksa 
dh 
la0 

lfUufgr 
jkf'k 

dqy 
oknksa 
dh 
la0 

lfUufgr 
jkf'k 

dqy 
oknksa 
dh 
la0 

lfUufgr 
jkf'k 

dqy 
oknksa 
dh 
la0 

lfUufgr 
jkf'k 

1 okf.kT; 
dj              

2 ifjogu              
3 fuca/ku              
4 [kuu              
5 fo|qr              
6 mRikn 

dj               

7 fcgkj 
jkT; 
[kk| 
fuxe  

    
         

8 vU;              
Sub Total              

B Ø0 
la0 

cSad dk 
uke              

 1 SBI              
 2 PNB              
 3 CBI              
 4 BOI              
 5 BOB              
 6 UBG              
 7 INDIA

N 

BANK 

    
         

 8 CANRA 

BANK 
             

 9 UNION 

BANK 
             

 10 UNITE

D 

BANK 

    
         

  vU;              
Sub Total              

C Ø0 
la0 

fofo/k              

                
                
                
                

Grand Total              
 



 

fofgr izi= %& ¼iv) 

Ø0 
la0 

ftyk dk uke 

Value/Amount wise 
izFke 20 uhyke i= 

inkf/kdkfj;ksa dk uke@ 
inuke 

yafcr oknksa dh 
la[;k 

lfUufgr jkf'k vH;qfDr 

1 eqt¶Qjiqj 

1 
2 
3 
- 
- 
20 

   

2 oS'kkyh 

1 
2 
3 
- 
- 
20 

   

3 lhrke<+h 

1 
2 
3 
- 
- 
20 

   

4 f'kogj 

1 
2 
3 
- 
- 
20 

   

5 iwohZ pEikj.k 

1 
2 
3 
- 
- 
20 

   

6 
if'pe 
pEikj.k 

1 
2 
3 
- 
- 
20 

   

dqy     
 



 

fofgr izi= %& ¼v) 
 

ftyk dk 
uke 

1000 ls vf/kd 
yafcr oknksa okys 

uhyke i= 
inkf/kdkfj;ksa dk 
uke@inuke 

1000 ls 500 yafcr 
oknksa okys uhyke 
i= inkf/kdkfj;ksa 
dk uke@inuke 

500 ls 100 yafcr 
oknksa okys uhyke i= 
inkf/kdkfj;ksa dk 
uke@inuke 

100 ls de yafcr 
oknksa okys uhyke i= 
inkf/kdkfj;ksa dk 
uke@inuke 

 oknksa dh 
la0 

jkf'k 
oknksa dh 

la0 
jkf'k 

oknksa dh 
la0 

jkf'k 
oknksa 

dh la0 
jkf'k 

eqt¶Qjiqj         

lhrke<+h         

oS'kkyh         

f'kogj         

iwohZ 
pEikj.k 

        

if'pe 
pEikj.k 

        

dqy         
 

 


